MODULE 2 – Turning
Unit 7 – Boring, Step Boring and Parting off
Questions
1. When setting up a boring bar, explain the term ‘overhang’.
2. Why is important to keep the overhang to a minimum.

3. What spindle speed is used when using a boring bar?
4. Explain how a telescopic gauge is used to measure an internal bore.
5. Explain briefly how an internal bore is machined in a workpiece.
Answers

1. The overhang is the distance from the tip of the tool to the tool post.
2. Too much of an overhang will result in chatter marks on the workpiece,     which are caused by vibration of the bar.

3. The speed of the chuck should be half that for ordinary turning speed. It is important to use coolant for all boring operations.
4. When using the telescopic gauge, allow the plunger to fully expand in the hole, tighten the locking screw and rock it slightly across the diameter until a suitable ‘feel’ is obtained. Firmly lock the plunger, remove it from the hole and measure with a micrometer.
5. The workpiece should be drilled out to within a couple of millimetres of the required bore diameter. The boring bar should be set-up on centre and the automatic feed can be used to machine the internal bore. The bore will need to be measured after each machining run, using vernier callipers, telescopic gauge or internal micrometer.
